THE SCHOOL BOARD OF BROWARD COUNTY, FLORIDA OFFICE OF THE SUPERINTENDENT

ROBERT W. RUNCIE SUPERINTENDENT OF SCHOOLS

Facsimile: (754) 321-2701 Telephone: (754) 321-2600

February 5, 2016

TO:

School Board Members

FROM:

Maurice L. Woods

Chief Strategy & Operations Officer

VIA:

Robert W. Runcie

Superintendent of Schools

SUBJECT: REVISION TO EE-9, 16-063C - ASPHALT PAVING AND

RESURFACING, FOR THE FEBRUARY 9, 2016, REGULAR SCHOOL

BOARD MEETING

Attached is a revision to EE-9, 16-063C - Asphalt Paving and Resurfacing, for the February 9, 2016, Regular School Board Meeting.

The Recommendation Tabulation form has been replaced due to the following:

- Removed from under the column ITEM(S) AWARDED, was the multiplier information next to Group A, B, C, and the \$1,908,708 (Pro-rated Based Contract Amount)
- The spreadsheet has been replaced

RWR/MLW/MP:dm Attachment

cc: Senior Leadership Team

The School Board of Broward County, Florida Procurement & Warehousing Services

ITB No.:	16-063C	Tentative Board N	Meeting Date*:	FEBRUARY 9, 2016
Description:	ASPHALT PAVING & RESURFACING, PLAY COURT REPAIRS AND RSURFACING AND STRIPING	Notified:	1503	Downloaded: 24
	REFINED AND ROOM FOR THE DOTAL INC	ITB Rec'd:	1	No Bids;0
For:	PHYSICAL PLANT OPERATIONS (School/Department)	ITB Opening:	NOVEMBER	10, 2015
Fund:	CAPITAL FUNDS	Advertised Date:	OCTOBER 2	1, 2015
		Award Amount:	\$3,500,000	
who is adversely decision or inter- notice of protest states that "The and days during be at the office person who files to The School B he bond require he right to prote (*) The Cone	dervices and www.Demandstar.com on JANUARY 15 , 201 If affected by the decision or intended decision shall file a notified decision. The formal written protest shall be filed within or failure to file a formal written protest shall constitute a waive formal written protest shall state with particularity the facts an which the school district administration is closed shall be excluded the Director of Procurement & Warehousing Services, 772 an action protesting an intended decision shall post with the School of Broward County, Florida, (SBBC), in an amount equal dispussed by SBBC Policy 3320, Part VIII, Purchasing Policies, Sectionst. Of Silence, as stated in the ITB, is in effect until this biotative date. Confirm with the Purchasing Agent of recommendations.	tee of protest, in writing ten (10) days after the er of proceedings under d law upon which the puded in the computation. West Oakland Park chool Board, at the time on N, within the time a list approved by SBE	g, within 72 house date the notice of this chapter. Secondest is based." on of the 72-hour Boulevard, Suite of filing the form of the estimated villowed for filing BC. The School	of protest is filed. Failure to file a ction 120.57(3)(b), Florida Statutes, Saturdays, Sundays, state holidays time period provided. Filings shall e 323, Sunrise, Florida 33351. Any mal written protest, a bond, payable value of the contract. Failure to post a bond shall constitute a waiver of oll Board meeting date stated
	RECOMMENDATION	ON/TABULATI	ON	
VENI	OOR'S NAME	TEM(S) AWARDED		
PENC	G	ROUP A ROUP B ROUP C		
*				
CONTRACT	TERM: FEBRUARY 10, 2016 THROUGH FEBRUA	RY 9, 2017		
	O MEET THE NEEDS OF THE SCHOOL SYSTEM AMS ARE RECOMMENDED TO BE AWARDED TO T			F THE SCHOOL BOARD, THE
IT IS RECOM	MMENDE THAT THE CONTRACT PERIOD BE FOR	(1) ONE YEAR		
Ву:	-Michelle Byt af		Date: 2/	3/2015
	(Purchasing Agent)			

The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, marital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Executive Director, Benefits & EEO Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Bid No. 16-063C Bid Title: Asphalt Playcourt Paving Repairs, Resurfacing Striping Bid Opened: November 10, 2015 Buyer/Purchasing Agent: Ian Superville

	THE SCHOOL BOARD OF BROWARD COUNTY, FLORIDA BID TABULATION SHEET					NC	E SEALCOAT	rinc	G CORPORA	TIC	iN
Item	Description	Quantity	Unit		Bid Unit Price		Bid Price Extension	5% Pref. Unit Price		5.4	Pref. Price Extension
	GROUP A ASHPALT PAVING AND REPAIRS			П		\$		\$		\$	
1	ASPHALT REPAIR PROJECTS UP TO 15 SQ YDS	3.000	SQ YD	\$	55.00		165,000.00	\$	57,750	S	173,250.00
2	ASPHALT REPAIR PROJECTS GREATER THAN 15 SQ	8,000	SQ YD				440,000.00	\$	57,750	\$	462,000.00
3	REMOVE ASPHALT	2.000	SQ YD	\$	2.00			5	2.100		4,200.00
4	INSTALL AND PAINT RUMBLE BUMPS	2,500	LF	S	9.00			\$	9.450		23,625.0
5	INSTALL AND PAINT SPEED HUMPS	1,750	SQYD		20.00			S	21,000		36,750.0
6	INSTALL CONCRETE VALVE OR CLEAN OUT BOX WITH METAL OR CONCRETE	20	EA	s	85.00	5		s	89.250	s	1,785.0
7	SWEEP/REMOVE DIRT IN PARKING LOTS	10,000	SQYD	\$	1.00			\$	1,050	\$	10,500.0
8	REMOVE CONCRETE CURB	250	LF	\$	4.00	\$		S	4.200		1,050.0
9	ASPHALT RESURFACING FOR PROJECTS - 125YDS	3.000	SQ YD	\$	10.00	\$		S	10,500		31,500.0
10	ASPHALT RESURFACING FOR PROJECTS-126-2500 SQYDS	8,000	SQYD	\$	15.00	\$		\$	15.750		126,000.0
11	ASPHALT RESURFACING FOR PROJECTS GRATER THAN 2501 SQ YDS	50.000	SQ YD	s	14.20		710,000.00	5	14,910	s	745,500.0
12	1-1/2" ASPHALT AND 4" OF LIME ROCK FOR JOB UP TO 125	3,000	SQ YD	\$	20.00			\$	21.000		63,000.0
13	1-1/2" ASPHALT AND 4" OF LIME ROCK GREATER THAN 125	1,000	SQ YD	\$	30.00			\$	31.500		31,500.0
14	1-1/2" ASPHALT AND 6" OF LIME ROCK FOR JOB UP TO 125	3.000	SQYD	\$	30.00			\$	31.500		94,500.0
15	1-1/2" ASPHALT AND 6" OF LIME ROCK GREATER THAN 125	2,500	SQ YD	\$	35.00			\$	36,750		91,875.0
16	1-1/2" ASPHALT AND 8" OF LIME ROCK FOR JOB UP TO 125	1,000	SQ YD	\$	30.00			\$	31,500	\$	31,500.0
17	1-1/2" ASPHALT AND 8" OF LIME ROCK GREATER THAN 125	1,000	SQ YD	\$	38.00	s		5	39.900	5	39,900.0
18	TESTING COSTS (COMPACTION AND OTHER) AS REQUIRED	10	EA	\$	90.00	\$		\$	94.500	\$	945.0
19	SUPPLY & DELIVER ASPHALT MILLINGS	500	TON	\$	32.00				33.600	\$	16,800.0
20	COLOR COATING -PROJECTS UP TO 125	300	SQYD	\$	9.00	5			9,450	S	2,835.0
21	COLOR COATING-PROJECTS GREATER THAN 125	26,000	SQ YD	\$	10.00	\$			10.500	\$	273,000.0
22	RESURFACE WITH FIBERGLASS MESH UP TO 500 SQ YDS	300	SQ YD	\$	20.00	5			21.000	\$	6,300.0
23	RESURFACE WITH FIBERGLASS MESH GREATER THAN 500	2.500	SQ YD	\$	12.00	ŝ			12.600	\$	31,500.0
24	PROVIDE AND INSTALL CONCRETE NEW WHEEL BUMPERS	450	EA	\$	30.00	\$		\$	31,500	\$	14,175.0
25	REMOVE CONCRETE WHEEL BUMPERS	450	EA	\$	2.50	\$			2.625	\$	1,181.2
26	RELOCATE OR REINSTALL EXISTING CONCRETE WHEEL	400	EA	8	2.00	\$			2,100		840.0
27	REPLACE CONCRETE WHEEL BUMPERS	400	EA	5	120.00	\$			126,000	S	50,400.0
28	PROVIDE AND INSTALL NEW CONCRETE WHEEL BUMPERS	450	EA	\$	110.00	\$			115.500		51,975.0
29	REMOVE CONCRETE WHEEL BUMPERS	450	EA	Š	2.00	\$			2,100		945.0
30	RELOCATE OR REINSTALL EXISTING CONCRETE WHEEL	400	EA	\$	5.00	\$			5.250	\$	2,100.0
31	REPLACE CONCRETE WHEEL BUMPERS	400	EA	s	40.00	\$		\$	42,000		16,800.0
32	PROVIDE AND INSTALL PVC TRAFFIC DELINEATORS	200	EA	s	100.00	\$			105.000		21,000.0
33	REMOVE PVC TRAFFIC DELINEATORS	200	EA	\$	1.00	\$			1.050	\$	210.0
34	REMOVE TRAFFICE POST AND SIGN	50	EA	\$	10.00	\$			10.500	\$	525.0
35	REPLACE SIGN POST ONLY	50	EA	\$	100.00	\$			105.000		5,250.0
36	REPLACE TRAFFIC POST AND SIGN	50	EA	5	260.00	S			273.000	\$	13,650.0
37	PROVIDE AND INSTALL NEW TRAFFIC SIGN & NEW POST	50	EA	\$	130.00	\$			136,500	\$	6,825.0
38	PROVIDE AND INSTALL NEW TRAFFICE SIGN ONLY	50	EA	\$	130.00				136.500		6.825.0
39	REPLACE TRAFFIC SIGN ONLY	50	EA	Š	200.00	S			210.000	\$	10,500.0
40	PROVIDE "AS BUILT" DRAWINGS FOR PROJECT	5	EA	1 8	1,000.00	S			1,050,000	\$	5,250.0
41	PAINT STENCILS ONTO PAVEMENT	100	EA	S	30.00	S			31.500		3,150.0
42	REPAINT STENCILS ONTO PAVEMENT	100	EA	18	30.00	\$			31,500		3,150.0
43	PAINT 2" LINES	10,000	LF	\$	0.02	\$			0.021	\$	210.0
44	REPAINT 2" LINES	10,000	LF	\$	0.02				0.021		210.0
45	PAINT 4" LINES	10,000	LF	\$	0.10	Š			0.105		1,050.0
46	REPAINT 4" LINES	500,000	LF	\$	0.02				0.021		10,500.0

Bid No. 16-063C Bid Title: Asphalt Playcourt Paving Repairs, Resurfacing Striping Bid Opened: November 10, 2015 Buyer/Purchasing Agent: Ian Superville

47	PAINT 6" LINES	1,000	LF I	\$	1,25	\$	1,250.00	\$	1.313	\$	1,312,50
48	REPAINT 6" LINES	1.000	LF	\$	1.25	\$	1,250.00	5	1.313	\$	1,312.50
49	PAINT B" LINES	1,000	LF	\$	0.50		500.00	5	0.525	\$	525.00
50	REPAINT 8" LINES	1,000	LF	8	0.50		500.00	\$	0.525	\$	525.00
51	PAINT 10" LINES	1,000	LF	S	0,50		500.00		0.525	\$	525,00
52	REPAINT 10" LINES	1,000	LF	15	0.50	\$	500.00	\$	0.525	\$	525,00
53	PAINT 12" LINES	1,000	LF	\$	2.00	\$	2,000.00	\$	2.100	\$	2,100.00
54	REPAINT 12" LINES	1,000	LF	5	2.00	\$	2,000.00	\$	2.100	\$	2,100.00
55	PAINT CONCRETE WHEEL BUMPER	1,000	EA	\$	8,00	\$	8,000.00	\$	8,400	\$	8,400.00
56	REPAIRING CONCRETE WHEEL BUMPER	10,000	EA	15	2.50	\$	25,000.00	\$	2.625	\$	26,250.00
57	PAINT ALPHABETICAL TITLE ON CONCRETE	1,000	EA	\$	7.00	\$	7,000.00	\$	7.350	\$	7,350.00
58	PAINT NUMBERICAL TITLE ON CONCRETE WHEEL	1,000	EA	\$	7.00	\$	7,000.00	S	7.350	\$	7,350.00
59	PAINT TRAFFIC ARROW PER FDOT SPECIFICATIONS	500	EA	\$	10.00	\$	5,000.00	\$	10.500	S	5,250.00
60	REPAINT TRAFFIC ARROW, PER FDOT SPECIFICATIONS	1,000	EA	\$	3.00	S	3,000.00	\$	3.150	\$	3,150.00
61	PAINT STOP BAR	30	EA	\$	50.00	S	1,500.00	\$	52.500	\$	1,575.00
62	REPAINT STOP BAR	500	EA	\$	3.00	S	1,500.00	\$	3.150	\$	1,575.00
63	REPAINT RUMBLE BUMPS	1,000	EA	\$	5.00	S	5,000.00	\$	5.250	\$	5,250.00
64	PAINT-OUT EXISTING LINES WITH BLACK TRAFFIC PAINT	5,000	LF	\$	0.10	S	500,00	\$	0.105	\$	525.0
65	PAINT HANDICAPPED RESERVED SPACE WITH LOGO	30	EA	\$	200.00	S	6,000.00	\$	210.000	\$	6,300.0
66	REPAINT HANDICAPPED RESERVED SPACE WITH LOGO	1,000	EA	\$	5.00	\$	5,000.00	\$	5.250	\$	5,250.0
67	PAINT HANDICAPPED ACCESSIBLE RAMP	1,000	SQFT	8	2.00	S	2,000.00	\$	2.100	\$	2,100.0
68	REPAINT HANDICCAPPED-ACCESSIBLE RAMP	1,000	SQFT	\$	3.00	\$	3,000.00	\$	3.150	\$	3,150.0
69	PAINT CURB	500	LF	S	2.00	\$	1,000.00	\$	2.100	\$	1,050.0
70	REPAINT CURB	3,000	LF	S	1.50	\$	4,500.00	\$	1,575	\$	4,725.0
71	STRIPE TENNIS COURT	5	EA	\$	1,000.00	\$	5,000.00	\$	1,050,000	\$	5,250.0
72	RESTRIPE TENNIS COURT	- 5	EA	S	250.00	\$	1,250.00	\$	262,500	\$	1,312.5
73	STRIPE OUTDOOR BASKETBALL/VOLLEY BALL COURT	5	EA	\$	1,000.00	\$	5,000.00	\$	1,050.000	\$	5,250.0
74	RESTRIPE OUTDOOR BASKETBALL/VOLLEYBALL COURT	15	EA	S	200.00	\$	3,000.00	\$	210.000	\$	3,150.0
75	STRIPE OUTDOOR PLAY COURT, ELEMENTARY LAYOUT	5	EA	\$	7,000.00	\$	35,000.00	\$	7,350,000	\$	36,750.0
76	RESTRIPE OUTDOOR PLAY COURT, ELEMENTARY	15	EA	S	2,000.00	S	30,000,00	\$	2,100.000	5	31,500.0
77	STRIPE OURTDOOR PLAY COURT, INTERMEDIATE LAYOUT	5	EA	18	8,500.00	S	32,500.00	\$	6,825.000	\$	34,125.0
78	RESTRIPE OUTDOOR PLAY COURT, INTERMEDIATE LAYOUT	15	EA	\$	1,000.00	\$	15,000.00	\$	1,050.000	\$	15,750.0
79	STRIPE RUNNING TRACK 440 YARDS AND 400 METERS	5	EA	\$	2,500.00	5	12,500.00	\$	2,625.000	\$	13,125.0
80	RESTRIPE RUNNING TRACK 440 YARDS AND 400 METERS	15	EA	15	1,000.00	\$	15,000.00	\$	1,050.000	\$	15,750.0
81	STRIPE 220-YARD RUNNING TRACK	5	EA	\$	2,500.00	\$	12,500.00	S	2,625.000	3	13,125.0
82	RESTRIPE 220 - YARD RUNNING TRACK	15	EA	\$	1,000.00		15,000.00	\$	1,050.000	\$	15,750.0
83	PAINT LONG JUMP AREA	5	EA	1 5	20.00		100.00	\$	21.000	\$	105.0
84	REPAINT LONG JUMP AEA	5	EA	15	20.00	S	100.00	S	21,000	5	105.0
85	PAINT SHOT PUT AREA	5	EA	\$	20.00		100.00	\$	21.000	\$	105.0
86	REPAINT SHOT PUT AREA	5	EA	\$	20.00		100.00	S	21,000	S	105.0
87	PAINT DISCUS THROW AREA	5	EA	\$	20.00		100.00	s	21.000	5	105.0
88	REPAINT DISCUS THROW AREA	5	EA	\$	20.00		100.00	\$	21.000	\$	105.0
89	PAINT SAFETY ZONE LINES	500	LF	5	2.00		1,000.00	\$	2.100	\$	1,050.0
90	REPAINT SAFETY ZONE LINES	1.500	LF	18	2.00		3,000.00	\$	2,100	\$	3,150.0
91	TAPE SAFETY ZONE LINES	500	LF	5	2.00		1,000.00	\$	2,100	\$	1,050.0
92	RE-TAPE SAFETY ZONE LINES	1,500	LF	\$	2.00		3,000.00	8	2,100	S	3,150.0
93	PAINT 4" BOLLARDS	200	EA	\$	2.50		500.00		2.625	S	525.0
94	REPAINT 4" BOLLARDS	200	EA	\$	2.50		500.00	s	2.625	S	525.0
95	PAINT 5" BOLLARDS	100	EA	\$	3.00		300.00		3.150	S	315.0
96	REPAING 6" BOLLARDS	100	EA	1 \$	3.00		300.00			\$	315
97	PRESSURE CLEAN FLAT SURFACES	5.000	SQYD	\$	2.80		14,000.00	Š	2.940	s	14,700.0
98	PRESSURE CLEAN CAR STOPS	100	EA	\$	10.00		1,000.00			s	1,050.0
99	PRESSURE CLEAN CURB	1,000	LF	\$	1.00		1,000.00			\$	1,050.0
90	REMOVE NETS AND POLES ON TENNIS COURT	10	SETS	\$	25.00		250.00			\$	262.5

Bid No. 16-063C Bid Title: Asphalt Playcourt Paving Repairs, Resurfacing Striping Bid Opened: November 10, 2015 Buyer/Purchasing Agent: lan Superville

101 1	VSTALL NEW NETS AND NEW POLES ON TENNIS CT.	10	SETS	\$	700.00	\$ 7,000.00	\$	735.000	\$	7,350.0
102 IN	NSTALL BASKETBALL BACKBOARDS	20	EA	8	2,500.00	\$ 50,000.00	\$	2,625.000	\$	52,500.0
	EMOVE BASKETBALL POSTS	20	EA	\$	50.00	\$ 1,000.00	5	52.500	\$	1,050.0
	EMOVE VOLLEY BALL POSTS AND SLEEVES	20	SETS	\$	10.00	\$ 200.00	5	10.500	\$	210.0
105 IN	NSTALL VOLLEY BALL POSTS AND SLEEVES	20	SETS	\$	1,000.00	\$ 20,000.00	\$	1,050.000	\$	21,000.0
	TOTAL ITEM A 1-105 INCLUSIVE			\$	33,634.26	\$2,786,125.00	S	35,315.973	\$	
31 IN	NSTALL THERMOPLASTIC STENCILS ON PAVEMENT	100	EA	\$	500.00	\$ 50,000,00	\$	525.000	\$	52,500.0
	VSTALL TERMOPLASTIC 2" LINES	1,000	LF	\$	20.00	\$ 20,000.00	5	21,000	\$	21,000.0
	EPAIR OR REINSTALL THERMOPLASTIC 2" LINES	1,000	LF	\$	10.00	\$ 10,000.00	\$	10.500	\$	10,500.0
	EMOVE THERMOPLASTIC 2" LINES	1,000	LF	\$	10.00	\$ 10,000.00	\$	10,500	\$	10,500.0
	NSTALL THERMOPLASTIC 4" LINES	1,000	LF	1 \$	20.00	\$ 20,000.00	5	21.000	\$	21,000.0
	EPAIR OR REINSTALL THERMOPLASTIC 4" LINES	10,000	LF	\$	15.00	\$ 150,000.00	S	15,750	\$	157,500.0
	EMOVE THERMOPLASTIC 4" LINES	1,000	LF	\$	20.00	\$ 20,000.00	S	21.000	\$	21,000.0
	NSTALL THERMOPLASTIC 6" LINES	1,000	LF	1 \$	25.00	\$ 25,000.00	\$	26.250	S	26,250.0
	EPAIR OR REINSTALL THERMOPLASTIC 6" LINES	1,000	LF	\$	25.00	\$ 25,000.00	\$	26.250	\$	26,250.0
	REMOVE THERMOPLASTIC 6" LINES	1,000	LF	1 \$	25.00	\$ 25,000.00	\$	26,250	S	26,250.0
	NSTALL THERMOPLASTIC 8" LINES	1,000	LF	1 \$	25.00	\$ 25,000.00	1 \$	26.250	\$	26,250.0
	REPAIR OR REINSTALL THERMOPLASTIC 8" LINES	1,000	LF	1 5	25.00	\$ 25,000.00	5	28.250	\$	26,250.0
	EMOVE THERMOPLASTIC 8" LINES	1,000	LF	S	25.00		1 5	26.250	S	28,250.0
	NSTALL THERMOPLASTIC 10" LINES	1,000	LF	\$	25.00				S	26,250.0
	EPAIR OR REINSTALL THERMOPLASTIC 10" LINES	1,000	LF	\$	25.00				\$	26,250.0
-	EMOVE THERMOPLASTIC 10" LINES	1,000	LF	5	25.00		1 5	The state of the s	\$	26,250.0
	NSTALL THERMOPLASTIC 12" LINES	1,000	LF	\$	30.00				\$	31,500.
	EPAIR OR REINSTALL THERMOPLASTIC 12" LINES	1,000	LF	18	30.00		15		\$	31,500
	EMOVE THERMOPLASTIC 12" LINES	1.000	LF	\$			13		\$	31,500
10 11	TOTAL ITEM B 1-19	1,000	1	1 5		\$ 595,000.00	-		\$	
1 R	REMOVE EXTRUDED CURB	1,000	LF	\$					\$	21,000.0
	NSTALL EXTRUDED CURB	1,000	LF	\$	20.00				5	21,000.0
	REMOVE TYPE "A" CURB	1,000	LF	18		\$ 20,000.00			\$	21,000.0
	NSTALL TYPE "A" CURB	1,000	LF	\$					\$	42,000.
	REMOVE TYPE "B" CURB	1,000	LF	\$					\$	21,000.
	NSTALL TYPE "B" CURB	1,000	ŬF.	\$		\$ 40,000.00			\$	42,000
	REMOVE TYPE "C" CURB	1,000	LF	5	20.00				S	21,000
	NSTALL TYPE "C" CURB	1,000	LF	5					\$	42,000
		1,000	LE	1 5		\$ 20,000.00			s	21,000
	REMOVE TYPE "D" CURB	1,000	LF	\$		\$ 40,000.00			\$	42,000
		1,000	LF	\$					\$	21,000
	REMOVE TYPE "E" CURB	1,000	LF			\$ 40,000.00				42,000
	NSTALL TYPE "E" CURB	1,000	LF	\$			8		\$	21,000
	REMOVE TYPE "F" CURB	1,000	LF	\$					5	42,000
	NSTALL TYPE "F" CURB		LF	1 5						42,000
	REMOVE VALLEY GUTTER	1,000	LF						\$	42,000
	NSTALL VALLEY GUTTER	1,000	LF	\$						42,000
	REMOVE SHOULDER GUTTER	1,000		\$					\$	57,750
	NSTALL SHOULDER GUTTER	1,000	LF	\$					\$	52,500
	REMOVE DROP CURB	1,000	LF	\$			\$			52,500
	NSTALL DROP CURB	1,000	LF	5					\$	10,500
	REMOVE HEADER CURB	1,000	LF	5						
	NSTALL HEADER CURB	1,000	LF	\$					3	42,000
	REMOVE CONCRETE SLABS AND WALKWAYS 8"	10,000	SQFT	S		\$ 250,000.00			\$	262,500
	REMOVE CONCRETE SLABS AND WALKWAYS > 8"	1,000	SQFT	3		\$ 25,000.00				26,250
	NSTALL 5' WIDE ON BOTH SIDE	5,000	SQFT	\$					\$	183,750
	NSTALL 5' WIDE ON ONE SIDE	5,000	SQFT	S						183,750
	NSTALL 4" THICK SLAB ON GRADE	5,000	SQFT	\$		\$ 175,000.00				183,750.
28 11	NSTALL 6" THICK SLAB ON GRADE	5,000	SQFT	5	40.00	\$ 200,000.00	\$	42.000	15	210,000

Bid No. 16-063C Bid Title: Asphalt Playcourt Paving Repairs, Resurfacing Striping Bid Opened: November 10, 2015 Buyer/Purchasing Agent: lan Superville

29	INSTALL 8 X 8" THICKENED EDGE	1,000	LF	1 5	20.00	\$ 20,000.00	5	21.000	\$ 21,000.00
30	INSTALL ADDITIONAL SQUARE FEET OF CONCRETE	30,000	SQFT	1 \$	20.00	\$ 600,000.00	\$	21.000	\$ 630,000.00
	**************************************					\$ -	\$		\$
	TOTAL GROUP C 1-30			1_		\$2,345,000.00	\$		\$ -
	BID TOTAL: GROUP A, GROUP B, GROUP C					\$5,726,125.00			
EMAR									

BID DRAFT WAS APPROVED BY:
BIDS RECEIVED WERE EVALUATED BY:
RECOMMEND THE AWARD BE MADE TO THE ABOVE LOW BIDDER(S) MEETING SPECIFICATIONS TERMS AND CONDITIONS.